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Multiplique por poténcias de dez (nimero ausente)

Nome:

5,502 x

1,34 x

5,923 x

3,23 x

4,391 x

5,263 x

5,438 x

5, 893 x

10, 285 x

6, 876 x

= 5502

=134

=592.3

=323

=4391

=52.63

= 54.38

= 5893

=1028.5

= 687.6
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Encontro: Data:

7,561 x

5, 807 x

10, 579 x

4,795 x

=75.61

= 580.7

=1057.9

2,826 x

10,457 x

3,651 x

= 4795

=282.6

= 10457

1,706 x

8,401 x

6,353 x

=36.51

=170.6

= 840.1

= 6353

Pontuagao:


https://www.snowmath.com

Multiplique por poténcias de dez (nimero ausente)

5,502 x 1000 = 5502

1,34 x 100 = 134

5,923 x 100 = 592.3

3,23 x10=323

4,391 x 10 =43.91

5,263 x 10 =52.63

5,438 x 10 = 54.38

5,893 x 1000 = 5893

10,285 x 100 = 1028.5

6, 876 x 100 = 687.6

Encontro: Data: Pontuacao:

7,561 x 10 ="75.61

5,807 x 100 = 580.7

10,579 x 100 = 1057.9

4,795 x 1000 = 4795

2,826 x 100 = 282.6

10,457 x 1000 = 10457

3,651 x 10 =36.51

1,706 x 100 = 170.6

8,401 x 100 = 840.1

6,353 x 1000 = 6353
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